ST CH

)—F— IN—hF—  [Hhik B2
1|&ZE ER |F&R IX |=E8HF 981.0
2lFME A +2|-< 5F [EHF 648.0
MK RX |=8 #F |E&AMF 642.0
JE38 &2 (Bl =7 ARG 604.0
5|k BER |BH HEE|EER 600.8
6|FEE Ri& | HEF |HEA 576.0
1EA B— |&RE HE |FEE 540.0
8K E— |hE FHK |[HAAF 537.6
IFE Fth |ZEH HEF|FE 486.0
10[FEH #E |[BEH Im¥ | XKERAF 418.8
11E B Pk BExX [HEBEER 398.4
12(16H #% [#8A FIE [ KR 396.0
13[RO _#i— [ FUZ | KR 360.0
148 FE M EF |ZEBE 317.6
15400 & A0 FE (FEUE 299.6
16[#%K 15 WH HF |[FEHAF 284.4
17|58 = INE BF [ KBRAEF 268.6
18[#2H FE#H |[FE kid |5&E 240.0
19|F%IE fifRE |£=F ¥ |EER 2344
208 ER [HE %ﬂ% it LU IR 234.0
21(F8A] 42 HE I [HEERE 232.2
2211IEF% it BRAX F=F [EER 210.0
23|35 IEE RIE 8 | KERAT 196.0
24|RERIR Eth EE EE | KR 194.4
25|IUAK t#E— |0 5hF  |FHEAT 192.0
26/%0@ &<z [f08 ¥ [fogulE 183.0
21|82 & Y ME 180.0
28|25 =7 |MH BF |=FE 178.2
29|FFH E&  |HLE BF | KIRAF 175.0
0|&FE ER |FER I AR 168.0
31|#EH 1— | Kf BF | KIRAF 164.8
32|50 HE |[HEH NHEE[BRE 162.0
33ok0O0 BB (kO &HF [EEER 158.8
4d|airly BYE [l T [ KRAF 156.0
B|FEH ER|PHE EOF |HEAT 135.0
36|FE &b |FES FHRFI(IEEER 135.0
7|K13E BB (K RF ([EER 132.0
B|RKE BA | KX bH= | KIRAT 120.0
AN B=  |FHH ZEF(EER 112.0
40| W tEth [£H BB |[FHAF 111.0
MU/NE BE ([bH DR [EER 109.2
42|58 # EH E=F [EHF 105.6
4315 E— |BF BF | KIRAEF 90.4
44/NH B= |'MNE BT | KBRAEF 90.0
45| EZ KH Mm¥ [ KRAF 89.0
46|HP S |HP @wF |LEE 84.0
471 (% E B [HE AEF(LEBE 81.0
48|G BEFE |#BE BAF |HEMT 80.0
NiEE FF (I £2F [EEER 73.0
50\5afk fi Hf &b |[LER 72.0
5157 SR |l ZEF|LEE 70.2
52|#%F [ET |HB BIfx |HEAF 70.0
53| B Hg B EFE 65.0
54| K0 &= |FHA IBF [#EEER 65.0
55|€ 1L Ih £l mF [BREE 64.8




ST CH

)—F— IN—hF— [ B2

=i ME [EM =MF [KERAEF 63.0
XE8 £ [XE E¥ [MWE 60.0
Eff 23 |Ef EF 54.6
Bt B Mo =X [FEEAE 54.0
BK E— (BB BF ([F#F 54.0
£l ##F [EH #HEF|LEE 45.0
tH BE [MAX AEZF|BEE 45.0
Tk BE [Tk FF |[HEE 45.0
hle w3 |[FRA EER [ KA 40.0
M RE  |[RAIR HEF [FEEAT 36.0
FH BZ [FH AR [KRF 36.0
Al EX XX BF [FHAE 36.0
=25 IF TH BF [HBEER 32.0
AT BE [l =it |EEE 30.0
Kix ki [§F HF [HBEER 29.0
EF BRA [ EF NI 28.0
il =i [HL wF |[EEE 27.0
FEELE & [BEL ZEF (KR 26.0
EH A [EH BF  (HEE 20.0
mE FAl (X FF (EER 20.0
HO BAE RO 5= | KERF 20.0
A B— [At+E B [EEE 18.0
1B B— [[IB A &F [KRFE 16.0
A ER X FF [ KERAEF 16.0
e EHig [(5H8 FR | EHE 15.0
N g B8 AEF [ KERAF 14.0




